10. cviceni - vysledky

Priklad 1.
(a) 3log|cosz — 1| — $log|cosz + 1| pro z € (km, (k+ 1)7), k € Z.
(b) % arctan (\/itanx + 1) + % arctan (\/itanm — 1).

(c) 3sin’z + 2sinz + 3log(2 — sinz).

(d) % arctan(v/3tan £).

(e) % arctan(y/2 tan ).

(f) log|tanz| —

(k5, (k+1)%),k € Z
(2) x+ﬁ pro z € (=% + k2, 38 + k2n),k € Z.
(h) log(3 + tan? £) — log(1 + tan? ) + % arctan(% tan §).

(i) cosz — 5 arctan(j cos ).

§)) % arctan(% tanx) —x pro x € (—5 +km, 5 +kn), k € Z.

Piiklad 2.

(a) %log\tanx— 1] — ilog(taan—i-l)—i- %:1: pro (—g—f‘kﬂ',%—i-kﬂ') , (%—Fkﬂ',%—i-kﬂ') JkeZ.
(b) &log|sin®—sinz + 1| — 3 log(1 + sinz) + % arctan (%(2 sinx — 1))

(c) z— \% arctan(v/2tan z).

(d) % arctan (%(3 tan 5 + 1))

(e) log|2 + tanz|.

Priklad 3.

a) —logx — log|logxz — 1| pro x € (0,e) U (e, 00).

(c) =27+ 4yx — 4log(1 + Vx) pro z > 0.
d) —z —4v22+3 —9log|v27 +3 — 3| + log(v2x + 3+ 1) proz € (—3,—1) ,U(—1,3) U (3, 00).
(e) e+ Zlogle® — 1| — log(e?* + €® + 1) pro z € R\ {0}.

(a)

(b) —%az+ %log|ez -1+ %log(ew +2) proz € R\ {0}.
)

(

(f) log |log(logx)|.

(g) log (1+,/22) - log’ﬁ—l‘—Q\[arctan(\[ﬁ)

h) S¢/@+1)7+8Y/(a+1)5 -3¢/ (z+ D)T+2y/(a+ 1 -3¢ (x+1)2+6Vz + 1 —6log(Va + 1 +1).
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(i) %log |logz — 1] — ¢ log| log?x + logz + 1| — 75 arctan (7(logat + ))

(i) — log(l—i— [2-1 >—|—§log‘1— /L—1‘+§. NN D
T+2 2 T+2 2 1— Q;Jré 2 1+ /er%

1 ‘,/1—2—1‘—1 (,/1—2 1)— 1 (I

) log @ o8 o Y Y

(1) 6log Yz — §log(Ya + 1) — $10g(29/7 — Y& + 1) — ;2= arctan (£471).

Piiklad 4. Vzorové feSeni: http://www.karlin.mff.cuni.cz/ kuncova/1920LS MA2/16a reseni.pdf

(a) Z24Y% (pr. 1(c))

(14 V)
14, /=2
(b) 2arctan 4/ hx log —
=i

(c) — log‘ \/;+3+\f‘ log‘—Z 1 3+\f‘—2arctan\/:(pf". 3 (b))

@ 10g CVED
)

r242+1—z+14+/3 < .

(pr. 2(c))

(e) /3
(f) %(\/1'2—|—21’+4—l’—|—210g)\/:€2—|—21’+ —z—1 —1—\/7 )(pf 3 (a))

2 42x+4
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